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ﬁiﬁ% TREOBBOESSLADKRES TREDHBESSLADKRES TREOBHOEILADKRES TREDHESSLNDKRES
; 100kN/m#%#BZ25| 1.00| 000 ~ 0.70| 110.40 |3mZEBZB| — ~ — — — | 100kN/mi%# 825 | 1.00 | 1065 ~ 1260 | 110.40 |3mEHEZS -~ — — —
Zh st 1.00|0.70 ~ 848 100.00 | Fhilst | 000 ~ 848|226 12.09 Fhst 1.00 | 5.00 ~ 1063 100.00 | =ns | 500 ~ 1260| 2.26 12.09
2 100kN/m%#BZ25| 1.00| 000 ~ 067 110.03 |3mZEBZB| — ~ — — — | 100kN/mi%E 825 | 1.00 | 1097 ~ 1320| 110.03 |3mEHEZS - ~ — — —
Zhst 1.00) 067 ~ 846| 100.00 | ThLs | 000 ~ 846 | 2.05 10.99 Fhs 1.00 | 5.00 ~ 1097 100.00 | #ns | 5,00 ~ 1320| 2.05 10.99
3 100kN/mM&#BZ 5| 1.00 | 0.00 ~ 0.50 107.38 |3m&x#EZH| — ~ — — — | 100kN/mi%E#BZ% | 1.00 | 10.71 ~ 1220| 10738 |3mEHEZB -~ — — —
ZhnLst 1.00 | 060 ~ 828 100.00 | #ns | 000 ~ 828|210 11.23 Zh st 1.00 | 5.00 ~ 10.71 100.00 | =S | 5.00 ~ 1220 2.10 11.23
4 100kN/mM%E#BZ5 | 1.00 | 0.00 ~ 0.44 106.45 |3mEBZDl — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 11.16 ~ 1260 | 106.45 |3mEHBZD - ~ — — —
Zh st 1.00 | 044 ~ 822 100.00 | Fhilst | 000 ~ 822|205 10.87 Fhs 1.00 | 5.00 ~ 11.16| 100.00 | =ns | 500 ~ 1260| 2.03 10.87
5 100kN/m#Z#BZ5| 1.00| 000 ~ 097 114.59 |3mZEBZB| — ~ — — — | 100kN/mi%#BZ5 | 1.00 | 11.26 ~ 1500| 114.59 |3mEHEZS -~ — — —
Zh st 1.00) 097 ~ 876 100.00 | ThLs | 0oo ~ 876|219 11.74 Fhs 1.00|5.00 ~ 11.26| 100.00 | =ns | 5,00 ~ 1500\ 2.19 11.74
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
ZzhnLst 1.00 | 000 ~ 741 94.64 | =hdst | 000 ~ 000|167 8.95 Zzhn st 1.00 | 5.00 ~ 9.90 94.64 | RS | 5,00 ~ 9.90 | 1.67 8.95
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 4.59 5719 | =S | 000 ~ 459 1.88 10.08 ZzhLs 1.00 | 5.00 ~ 56.00 57.19 | =S | 5.00 ~ 5.00 )| 1.88 10.08
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




